
 Garment Style Mobile 10 Arm Apron Rack 
 #RAR-MSA10 

 Packing List/Assembly Instructions 

 PARTS LIST 

 BOX 1 

 Item  Description  QTY  Picture 

 A  24”  bar  with  black  end  on  both 
 sides  and  2  installed  nuts  to  attach 
 Wheels  (A) 

 2 

 B  50” bar  (B)  2 

 C  49”  bar  with  a  black  end  on  the  top 
 end  (C) 

 2 

 D 

 49.75” bar  (D) 

 1 

 BOX 2 

 Item  Description  QTY  Picture 

 E  Casters 

 Containing: 
 Qty 4: Caster Wheels with attached 
 bolts  (E) 
 Qty 4: Nuts  (F) 

 *Nuts must be removed and discarded. 
 They are placed there to keep the bolts 
 and casters together  . 

 4 

 E  F 

 M  Rack with 5 Full Swing Arms  (M)  2 



 Garment Style Mobile 10 Arm Apron Rack 
 #RAR-MSA10 

 Packing List/Assembly Instructions 

 Item  Description  QTY  Picture 

 Bag of hardware 
 (part #:  RAR-MSA10-BOLTPACK) 
 Containing the following items 

 1 

 G  7/16”  X  4” Bolts  (G)  4 

 H  7/16”  X  2” Bolts  (H)  12 

 I  5/16”  X  2” Bolts  (I)  4 

 J  5/16” Nuts  (J)  4 

 K  7/16”  Lock Washers  (K)  16 

 L  5/16” Washers  (L)  8 



 Garment Style Mobile 10 Arm Apron Rack 
 #RAR-MSA10 

 Packing List/Assembly Instructions 

 Assembly Instruc�ons 

 ·        Two people assembly required 
 ·        5/16” and 7/16” Wrenches required (not included) 

 STEP 1 

 (x2) 

 COMPLETE STEP 1 



 Garment Style Mobile 10 Arm Apron Rack 
 #RAR-MSA10 

 Packing List/Assembly Instructions 

 Step 2 

 (x4) 



 Garment Style Mobile 10 Arm Apron Rack 
 #RAR-MSA10 

 Packing List/Assembly Instructions 

 Step 3 

 (x2) 

 COMPLETE STEP 3 



 Garment Style Mobile 10 Arm Apron Rack 
 #RAR-MSA10 

 Packing List/Assembly Instructions 

 Step 4 

 (x2) 

 COMPLETE STEP 4 



 Garment Style Mobile 10 Arm Apron Rack 
 #RAR-MSA10 

 Packing List/Assembly Instructions 

 Step 5 

 (x2) 



 Garment Style Mobile 10 Arm Apron Rack 
 #RAR-MSA10 

 Packing List/Assembly Instructions 

 Complete 


